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Unit 1 Assessment #2
Chapter 2: Analytic Geometry — Line Segments and Circles
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Instructions and Hints:
1. You must show full solutions! Please make sure that they are organized and legible

(equals signs, neat handwriting, appropriate symbols and conventions, etc.). If | cannot
follow them, | cannot mark them.

2. Please show your process clearly. Whether you are using a graph or algebra, | need to
be able to see where your answer came from!|

3. Double-check your work! No more sign errors!!! Use a fraction button if you aren’t sure
about your fractions!

4 Report your answers as exact values (keep the square root symbol, leave them as
fractions) unless you are using them to complete more calculations (perimeter, area,
etc.).

5. You had the option to create a cheat sheet. If you are using one, you MUST hand it in

with your test!
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1 State the coordinates of the midpoint of the line segment from A(-3, -7) to B(S, 11).
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2. Line segment PQ has one end point, P, at (6, -2) and a midpoint, M, at((l, 2). Determine

the coordinates of Q. (2 marks) =
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3 Triangle JKL has venlce{ 2,9), K(5,-1) and L(d 1). Determine: SR d‘“m“‘ g
a The penmeter of the triangle. (4 marks) Reund v bnal Answr %
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b. The equation of the perpendicular bisector of si |
JL. (4 marks) G ~ v :
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Choose either question #4 OR #5. Your answer should fit on this page! (4 marks)

(4) Clearly define the term median as it pertains to triangles and explain how you would
find the equation of a median. What is the difference between a perpendicular bisector
and a median in a triangle?

5. Define right isosceles triangle Explain how you would prove that a triangle is a right
isosceles triangle if you are given the coordinates of its vertices. I J it g
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6 Determine the exact distance from the point A(-3, -6) to the line y = —2x 3
iy (5 marks) i 7 x>
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7. Write the equation of a circle centered at the origin that has a radius qf 5 (1 mark)
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8. Write the equation for a circle centered at the origin that passes through A( -6, 2). State
the exact value of the radius and coordinates of the x and y-intercepts. (3 marks)
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9. A quadrilateral has vertices at A(3, 6), B (-3,2), C(-1, -1), and D(5, 3). Show that the
| shape is a rectangle. (5 marks)
L/ Nl \\" "-'l\ q” / /'1
e <hauld be el 1.«3*, v o
4 ¥
e sheuld Mg be ""(””A 'i""'\/‘ v Lr
AN
4 (/xf (:)y (. o IY\’( g JL_!I 5 N
G { i) vy -, 7 1" 4
dact =(-1-3}" ¢ (- - F) JV\P( i Lr,’ < -
da ) /*/f_f = | - \E,/ ] 3
) 13 'y«.ﬂy j i o
s L %)
A gy (x, ‘i}; Y ) “\“'B: Ye-y "
{ ) ‘," s [ j \‘1 / : %g - %
,.'! 1 4 'l et B0 = j)‘ = \
. ‘;7' 7 \“ Rt ER —r
“ag JeS 4 )(’"‘H 4 \ ~ b4
= et € ‘ i >
& T . 2y Blus devl o ior &) ARCD 13 &
\j / ) LTE and |
s f l.(-';* » ‘ rm % _HJ



10. An altitude in a triangle is also the height of a tnangle. The altitude joins the vertex to '
the opposite side at an angle of 90 degrees (see diagram)

N | The altitude DOES NOT
l BISECT the opposite side!!
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a. Draw APQR, where P(-1, 2), Q(-3, -2), and R(6, 1). Use your diagram to accurately

draw the altitude from P. (2 marks) !
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b Calculate the length of the altitude §1 mark) .
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c. Calculate the length of line ségment QR. (1 mark)
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